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QUESTION 1

What is the environment variable that points to the location where the JDK is installed? 

A. JAR_HOME 

B. JDK_HOME 

C. JAV_HOME 

D. JAVA_HOME 

Correct Answer: D 

 

QUESTION 2

A developer is writing a Web service operation namedgetQuote?Select the proper code to obtain the HTTP Query
String used in the request: 

A. public String get Quote (String input String, Message Context mc) { mc.get (MessageContext.QUERY_STRING); ... 

B. public String get Quote (String input String, WebServiceContext wc) { wc.getMessageContext().get
(MessageContext.QUERY_STRING); ... 

C. @Resource private WebServiceContext context; Public String get Quote (String input String) {
context.getMessageContext().get(MessageContext.QUERY_STRING); ... 

D. @WebServiceContext private WebServiceContext context; Public String get Quote (String input String)
{context.getMessageContext().get(MessageContext.QUERY_STRING); ... 

E. @Resource private Resource context; Public String get Quote (String input String) { ((Message
Context)context).get(MessageContext.QUERY_STRING); ... 

Correct Answer: C 

 

QUESTION 3

A developer is creating a new Web service from a Java bean. 

Which of the following tasks CANNOT be performed using the Create Web Service Wizard in IBM Rational Application
Developer V7.5? 

A. Enable MTOM support 

B. Specify custom bindings files 

C. Publish the Web service to a UDDI registry 

D. Associate the Web service project with an EAR 

E. Configure TCP/IP Monitor to monitor SOAP messages 
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Correct Answer: B 

 

QUESTION 4

An online retailer would like to expand the supply chain Web service application by adding new third party suppliers.
Some of the key non-functional requirements include: support for vendor interoperability, loose coupling, long running
processes, and to coordinate the order fulfillment across multiple suppliers. The application logic needs to be able to
adjust the business processes to accommodate the success or failure of downstream suppliers being able to satisfy the
request. 

Which of the following quality of service standards should be used for the Web services? 

A. WS-Activity Session 

B. WS-Business Activity 

C. WS-Reliable Messaging 

D. WS-Atomic Transaction 

E. WS-Business Transaction 

Correct Answer: B 

 

QUESTION 5

Which of the following is TRUE about specifying the SOAP version in JAX-WS? 

A. The JAX-WS @Binding Type annotation of SOAP12HTTP_BINDING indicates to 

B. The JAX-WS @Binding Type annotation of SOAP12 indicates to expose the Web service via SOAP 

1.2 on both HTTP and JMS 

C. A Web service implementation defined with a JAX-WS @Web Service annotation defaults to expose the endpoint via
SOAP 1.1 only. 

D. A Web service implementation defined with a JAX-WS @Web Service annotation defaults to expose the endpoint via
SOAP 1.2 only. 

E. A Web service implementation defined with a JAX-WS @Web Service annotation defaults to expose the endpoint via
both SOAP 1.1 and SOAP 1.2. 

Correct Answer: AC 
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